CS-04/1T-04

June — Examination 2023

B.A./B.Sc. (Part-II) Examination
Operating System
ST faen)
Paper : CS-04/1T-04

Time : 3 Hours | [ Maximum Marks : 55

Note .— The question paper is divided into three Sections
A, B and C. Write answers as per the given
instructions.
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Section-A 7x1=7
(Very Short Answer Type Questions)

Note .— Answer all questions. As per the nature of the
question delimit your answer in one word, one
sentence or maximum up to 30 words. Each

question carries 1 mark.

CS-04/IT-04/7 (1) T—437 7Turn Over

QUE—3
(3tfa &g ST u9)

frder .- |ty % SW AWTI M9 ST SW F TRAGER

(i)

(iii)

(iv)

(v)
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What are threads in Operating System ?
ARfen fowq # deg@ #=n € ?

Who developed Banker’s algorithm ?
Sepd T k1 famm fean fean ?

Response time is expected to be high for
which scheduling algorithm ?

fora Tregfam teniRem & o wfafswan 9= stfve
B & IR T 7

What is device polling ?
feargy aifem =1 & ?
Name the method to control external

fragmentation.
9 famves = faf=a s =t fafy w1 9m
fafem |
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(vi) Why threads are known as light weight

process ?
Jeq F) e A2 TG F Fw S ?
(vil) What is BIOS ?
I T ?
Section-B 4%x6=24
(Short Answer Type Questions)
Note -— Answer any four questions. Each answer should not
exceed 200 words. Each question carries 6 marks.
gug—d
(F1g A W)
fder .- fF=l =R wedl & IW dEU A9 A S| H

Afreraw 200 w18l H RENHG HIfST Il TdS 99
6 3TF FH T

2. Define operating system. Explain how operating
system acts as a resource manager.
sRfen famm w1 gk wifsw = wifse &
stfen faen Taem yorys & ®9 8 &d wE H
T2
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. What is multilevel queue scheduling ? What are

the differences between preemptive and non-

preemptive scheduling ?

TR . Igfeam F © 2 WHfed R AR-Tafes
efe & S TR N ?

. Explain various memory allocation schemes-first-

fit, next-fit, best-fit, worst-fit and quick-fit.

fafvm Hfa stee demei—we-fhe, AF=-fre,

y2-ftpe, aL-fthe IR foaer-fthe =t =ame wifsw)

. Discuss the role of virtual memory in

multiprogramming.

I H agete HERI At i T == Hife)

. What is thrashing ? What is effect of thrashing on

system performance ?

Ay = T 2 AR W foew wewR W oFm gwE
TE@ T ?

. Explain producer consumer problem. How it is

solved by semaphores ?

3G UMK THET i Al HiT | 39 AR

B %Y B fmen S © 2

CS-04/IT-04/7 (4) T—437



CS—04/1T-04/ 7 (5)

8. What are the different deadkock prevention

schemes ? Explain them.

faf=r wifqre famor dermd o1 § 7 3% TWemET

. Under what circumstances page fault occur ?
Describe the actions taken by the operating system
when a page fault occrus.

I9 wice fRT aRftafadi & 8@ § 2 99 wiee 39 W
sitfen faed g0 &t S aell ®Ramsdl &1 v
HIST |

Section—-C 2x12=24

(Long Answer Type Questions)

Note .— Answer any two questions. You have to delimit

your each answer maximum up to 500 words.

Each question carries 12 marks.
Tus—H
(& ST uee)

feor .- =81 91 w9l & SR SIfST | o9 3T SR Al AfereRas
500 w1 H g SIfNT) 9o 99 12 3% T B

10. Consider the following set of process with the

arrival time and CPU. Explain the architecture of
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11.

12.
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an operating system. Differentiate process and

program. Also describe PCB and its contents.

STFH TFF SR WLy & Wy ufeen & frefafed
T R four #ifvu) & i fawn & snfadn
T A HIST | GiHa SR FEHT H SR Hifeg |
THE T, WSl ST’ SHeh! W T U ehifeg |

How does pre-paging differ from demand paging ?
How does demand paging affect the performance
of system ?

H-ufsm femme S & &8 fu=m § 2 femme afsm
faen & yoe w1 &9 gfaq war © 2

For the partitions of 100 K, 500 K, 200 K, 300 K
and 600 K (in-order). Place the processs of size
212 K, 417 K, 112 K and 426 K (in-order)
according to Best fit and First fit algorithm.

100 K, 500 K, 200 K 3R 600 K (37-3fR) &
faareH & faw) sfe ffe oIk w2 fhe woifem &
SMER 3R 212 K, 417 K, 112 K @R 426 K
(3A-31E) 1 gfwed 1 FaEw)



13. Consider the following snapshot of the system :

frafafea yomelt & =usiie | fa=m wifsT

Allocation Max Available

Process A B C A B C A B C

PO 010 7 5 3 3 3 2
P1 2 00 3 2 2
P2 3 02 9 0 2
P3 I 11 2 3 2
P4 0 0 2 4 3 3

(@) Is the given state safe ? If yes, then what is
the safe sequence ?
F T S Sfewen orgfeE ¥ 2 Afg @, O gifkm
HH FME ?

(b) If a request from process P1 arrives for
(1,0,2), can the request be granted
immediately ? What is the content of Need

matrix ?
afe gfswan P1 & ¥ (1, 0, 2) & fau omm §,

@A N TR A wpd R S Fehar ¥ 2
SMETTehal Afg & W o ® 2
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